

Solo Free Dance						Level: 2	 INCLUSIVE SKATING			
Competition:	World Inclusive Skating Virtual Championship 2025									
First name:	Callum	Last name:	Mills	Sex:	Man					
Age Jan 1st:	26	Age category:	Senior	Country:	England, UK					
Classification:	Intellectual Independent	Support:		Club:						
				Technical	Grade of Execution	Mark awarded				
Elements					Official Use Only					
Level 2										
Pose (3 to 6 seconds)			0.5	2	1.000					
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			0.5	1.7	0.850					
One position spin (no change of foot)			0.5	2.3	1.150					
Total Technical Elements	Total judges score for elements				3.000					
	Factor	WPI	WPI incl age							
Impairment Compensation (9 x WPI)	9	53.00%	53.00%		4.770					
Technical Skating Skills (Factor x Score)	1.5		1.9		2.850					
Artistic Performance & Execution (Factor x Score)	1.5		2.5		3.750					
Deductions							0.00			
Total Score for Performance						14.37				
Programme duration (min): 1.5						Time Adjusted Championship World Ranking Score	9.58			

Solo Free Dance					Level: 3	 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Tim	Last name:	Barnsley	Sex:	Man	
Age Jan 1st:	44	Age category:	Master	Country:	England, UK	
Classification:	Unified Unclassified	Support:		Club:		
				Technical	Grade of Execution	Mark awarded
Elements					Official Use Only	
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	3.25	3.357
Pose (3 to 6 seconds)				0.667	3.5	2.335
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	2.1	1.821
One position Dance Spin (no change of foot)				0.867	5.3	4.595
Total Technical Elements			Total judges score for elements			7.513
			Factor	WPI	WPI incl age	
Impairment Compensation (20 x WPI)			20	0.00%	4.00%	0.800
Technical Skating Skills (Factor x Score)			1.5		3.2	4.800
Artistic Performance & Execution (Factor x Score)			1.5		2.9	4.350
Deductions						0.00
Total Score for Performance						17.46
Programme duration (min): 2			Time Adjusted Championship World Ranking Score			8.73

Solo Free Dance					Level: 5	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025						
First name:	Cameron	Last name:	Sargent	Sex:	Man		
Age Jan 1st:	23	Age category:	Senior	Country:	England, UK		
Classification:	Intellectual Independent	Support:		Club:			
				Technical	Grade of Execution	Mark awarded	
Elements					Official Use Only		
Level 5							
Twizzles, 2 rotations on any edge, c + cc, max 3 linking steps, add. features permitted				1.867	5.25	9.802	
Pose 1 (3 to 6 seconds)				1	7	7.000	
Pose 2 (3 to 6 seconds)				1	4	4.000	
Step sequence (straight line, full ice surface, brackets twizzles more adv. turns)				1.867	3.6	6.721	
One Dance Spin (1 change of position and one change of foot permitted)				1.533	6.25	9.581	
Total Technical Elements			Total judges score for elements			20.802	
			Factor	WPI	WPI incl age		
Impairment Compensation (40 x WPI)			40	20.00%	20.00%	8.000	
Technical Skating Skills (Factor x Score)			2.5		4.5	11.250	
Artistic Performance & Execution (Factor x Score)			2.5		4.75	11.875	
Deductions						0.00	
Total Score for Performance						51.93	
Programme duration (min): 2.25			Time Adjusted Championship World Ranking Score			23.08	

Solo Free Dance						Level: 1	 INCLUSIVE SKATING			
Competition:	World Inclusive Skating Virtual Championship 2025									
First name:	Lyra	Last name:	Morton	Sex:	Lady					
Age Jan 1st:	11	Age category:	Novice	Country:	England, UK					
Classification:	Unified Classified	Support:		Club:						
				Technical	Grade of Execution	Mark awarded				
Elements					Official Use Only					
Level 1										
Pose (3 to 6 seconds)				0.333	2	0.666				
Step sequence (straight line, basic F 3 turns, Fx rolls etc)				0.367	0.8	0.294				
Spin (1 or 2 foot, upright)				0.333	0.3	0.100				
Total Technical Elements	Total judges score for elements				1.060					
	Factor	WPI	WPI incl age							
Impairment Compensation (6 x WPI)	6	0.00%	0.00%		0.000					
Technical Skating Skills (Factor x Score)	1		0.8		0.800					
Artistic Performance & Execution (Factor x Score)	1		1.1		1.100					
Deductions							0.00			
Total Score for Performance						2.96				
Programme duration (min): 1.5	Time Adjusted Championship World Ranking Score						1.97			

Solo Free Dance					Level: 2	 INCLUSIVE SKATING			
Competition:	World Inclusive Skating Virtual Championship 2025								
First name:	Ella	Last name:	Mungin	Sex:	Lady				
Age Jan 1st:	15	Age category:	Junior	Country:	Scotland, UK				
Classification:	Intellectual Independent	Support:		Club:					
				Technical	Grade of Execution	Mark awarded			
Elements					Official Use Only				
Level 2									
Pose (3 to 6 seconds)				0.5	3	1.500			
Step sequence (straight line, basic F 3 turns, Fx rolls etc)				0.5	1.3	0.650			
One position spin (no change of foot)				0.5	0.8	0.400			
Total Technical Elements	Total judges score for elements				2.550				
	Factor	WPI	WPI incl age						
Impairment Compensation (9 x WPI)	9	10.00%	10.00%		0.900				
Technical Skating Skills (Factor x Score)	1.5		2		3.000				
Artistic Performance & Execution (Factor x Score)	1.5		2.6		3.900				
Deductions						0.00			
Total Score for Performance					10.35				
Programme duration (min): 1.5	Time Adjusted Championship World Ranking Score					6.90			

Solo Free Dance						Level: 2	 INCLUSIVE SKATING			
Competition:	World Inclusive Skating Virtual Championship 2025									
First name:	Linzi	Last name:	Barber	Sex:	Lady					
Age Jan 1st:	46	Age category:	Master	Country:	England, UK					
Classification:	Unified Unclassified	Support:		Club:						
				Technical	Grade of Execution	Mark awarded				
Elements							Official Use Only			
Level 2										
Pose (3 to 6 seconds)				0.5	2.8	1.400				
Step sequence (straight line, basic F 3 turns, Fx rolls etc)				0.5	3.5	1.750				
One position spin (no change of foot)				0.5	1.8	0.900				
Total Technical Elements	Total judges score for elements				4.050					
	Factor	WPI	WPI incl age							
Impairment Compensation (9 x WPI)	9	0.00%	6.00%		0.540					
Technical Skating Skills (Factor x Score)	1.5		2.2		3.300					
Artistic Performance & Execution (Factor x Score)	1.5		2.7		4.050					
Deductions					0.00					
Total Score for Performance						11.94				
Programme duration (min): 1.5				Time Adjusted Championship World Ranking Score		7.96				

Solo Free Dance						Level: 2	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Lucy	Last name:	Ellerton	Sex:	Lady			
Age Jan 1st:	13	Age category:	Advanced-Novice	Country:	England, UK			
Classification:	Unified Classified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements					Official Use Only			
Level 2								
Pose (3 to 6 seconds)				0.5	2	1.000		
Step sequence (straight line, basic F 3 turns, Fx rolls etc)				0.5	1.9	0.950		
One position spin (no change of foot)				0.5	0.75	0.375		
Total Technical Elements			Total judges score for elements			2.325		
			Factor	WPI	WPI incl age			
Impairment Compensation (9 x WPI)			9	5.00%	5.00%	0.450		
Technical Skating Skills (Factor x Score)			1.5		2	3.000		
Artistic Performance & Execution (Factor x Score)			1.5		2.1	3.150		
Deductions						0.00		
Total Score for Performance						8.93		
Programme duration (min): 1.5						Time Adjusted Championship World Ranking Score	5.95	

Solo Free Dance						Level: 2	 INCLUSIVE SKATING							
Competition:	World Inclusive Skating Virtual Championship 2025													
First name:	Maria	Last name:	Valeva	Sex:	Lady									
Age Jan 1st:	26	Age category:	Senior	Country:	England, UK									
Classification:	Unified Classified	Support:		Club:										
				Technical	Grade of Execution	Mark awarded								
Elements					Official Use Only									
Level 2														
Pose (3 to 6 seconds)				0.5	2	1.000								
Step sequence (straight line, basic F 3 turns, Fx rolls etc)				0.5	1	0.500								
One position spin (no change of foot)				0.5	0.5	0.250								
Total Technical Elements	Total judges score for elements					1.750								
	Factor	WPI	WPI incl age											
Impairment Compensation (9 x WPI)	9	0.00%	0.00%			0.000								
Technical Skating Skills (Factor x Score)	1.5		1.7			2.550								
Artistic Performance & Execution (Factor x Score)	1.5		1.9			2.850								
Deductions						0.00								
Total Score for Performance						7.15								
Programme duration (min): 1.5						Time Adjusted Championship World Ranking Score	4.77							

Solo Free Dance						Level: 2	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Wynter	Last name:	East	Sex:	Lady			
Age Jan 1st:	8	Age category:	Pre-Novice	Country:	England, UK			
Classification:	Unified Unclassified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements							Official Use Only	
Level 2								
Pose (3 to 6 seconds)				0.5	2.2	1.100		
Step sequence (straight line, basic F 3 turns, Fx rolls etc)				0.5	1.1	0.550		
One position spin (no change of foot)				0.5	1	0.500		
Total Technical Elements				Total judges score for elements		2.150		
				Factor	WPI	WPI incl age		
Impairment Compensation (9 x WPI)				9	0.00%	0.00%	0.000	
Technical Skating Skills (Factor x Score)				1.5		1.1	1.650	
Artistic Performance & Execution (Factor x Score)				1.5		1	1.500	
Deductions								
Total Score for Performance								
Programme duration (min): 1.5				Time Adjusted Championship World Ranking Score		3.53		

Solo Free Dance						Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Amelia	Last name:	Jones	Sex:	Lady			
Age Jan 1st:	14	Age category:	Advanced-Novice	Country:	England, UK			
Classification:	Unified Unclassified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements					Official Use Only			
Level 3								
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	3.2	3.306		
Pose (3 to 6 seconds)				0.667	3	2.001		
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	1.3	1.127		
One position Dance Spin (no change of foot)				0.867	5.3	4.595		
Total Technical Elements				Total judges score for elements		6.434		
				Factor	WPI	WPI incl age		
Impairment Compensation (20 x WPI)				20	0.00%	0.00%	0.000	
Technical Skating Skills (Factor x Score)				1.5		3.45	5.175	
Artistic Performance & Execution (Factor x Score)				1.5		3.5	5.250	
Deductions							0.00	
Total Score for Performance							16.86	
Programme duration (min): 2				Time Adjusted Championship World Ranking Score			8.43	

Solo Free Dance						Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Amy	Last name:	Scott	Sex:	Lady			
Age Jan 1st:	18	Age category:	Senior	Country:	England, UK			
Classification:	Intellectual Independent	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements							Official Use Only	
Level 3								
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	3	3.099		
Pose (3 to 6 seconds)				0.667	4	2.668		
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	2.45	2.124		
One position Dance Spin (no change of foot)				0.867	3.5	3.035		
Total Technical Elements				Total judges score for elements		7.891		
				Factor	WPI	WPI incl age		
Impairment Compensation (20 x WPI)				20	5.00%	5.00%	1.000	
Technical Skating Skills (Factor x Score)				1.5		2.2	3.300	
Artistic Performance & Execution (Factor x Score)				1.5		2.6	3.900	
Deductions							0.00	
Total Score for Performance							16.09	
Programme duration (min): 2				Time Adjusted Championship World Ranking Score			8.05	

Solo Free Dance					Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025						
First name:	Angelika	Last name:	Stanieczko	Sex:	Lady		
Age Jan 1st:	44	Age category:	Master	Country:	England, UK		
Classification:	Unified Unclassified	Support:		Club:			
				Technical	Grade of Execution	Mark awarded	
Elements					Official Use Only		
Level 3							
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	2.5	2.583	
Pose (3 to 6 seconds)				0.667	3	2.001	
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	1.7	1.474	
One position Dance Spin (no change of foot)				0.867	3.1	2.688	
Total Technical Elements				Total judges score for elements		6.058	
				Factor	WPI	WPI incl age	
Impairment Compensation (20 x WPI)				20	0.00%	4.00%	
Technical Skating Skills (Factor x Score)				1.5		2.4	
Artistic Performance & Execution (Factor x Score)				1.5		2.5	
Deductions						0.00	
Total Score for Performance						14.21	
Programme duration (min): 2			Time Adjusted Championship World Ranking Score			7.10	

Solo Free Dance						Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Jennifer	Last name:	Slater	Sex:	Lady			
Age Jan 1st:	27	Age category:	Senior	Country:	England, UK			
Classification:	Unified Classified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements						Official Use Only		
Level 3								
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	2.75	2.841		
Pose (3 to 6 seconds)				0.667	3.5	2.335		
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	1.85	1.604		
One position Dance Spin (no change of foot)				0.867	3.1	2.688		
Total Technical Elements				Total judges score for elements		6.780		
				Factor	WPI	WPI incl age		
Impairment Compensation (20 x WPI)				20	0.00%	0.00%	0.000	
Technical Skating Skills (Factor x Score)				1.5		2.2	3.300	
Artistic Performance & Execution (Factor x Score)				1.5		2.5	3.750	
Deductions							0.00	
Total Score for Performance						13.83		
Programme duration (min): 2				Time Adjusted Championship World Ranking Score		6.92		

Solo Free Dance						Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Maleena	Last name:	Moorhouse	Sex:	Lady			
Age Jan 1st:	24	Age category:	Senior	Country:	UK			
Classification:	Unified Unclassified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements						Official Use Only		
Level 3								
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	2.8	2.892		
Pose (3 to 6 seconds)				0.667	4	2.668		
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	3.5	3.035		
One position Dance Spin (no change of foot)				0.867	5.4	4.682		
Total Technical Elements				Total judges score for elements		8.595		
				Factor	WPI	WPI incl age		
Impairment Compensation (20 x WPI)				20	0.00%	0.00%	0.000	
Technical Skating Skills (Factor x Score)				1.5		2.8	4.200	
Artistic Performance & Execution (Factor x Score)				1.5		3	4.500	
Deductions							0.00	
Total Score for Performance						17.30		
Programme duration (min): 2				Time Adjusted Championship World Ranking Score		8.65		

Solo Free Dance					Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025						
First name:	Meg	Last name:	McFarlane	Sex:	Lady		
Age Jan 1st:	21	Age category:	Senior	Country:	England, UK		
Classification:	Intellectual Independent	Support:		Club:			
				Technical	Grade of Execution	Mark awarded	
Elements					Official Use Only		
Level 3							
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	0.4	0.413	
Pose (3 to 6 seconds)				0.667	4.35	2.901	
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	1.4	1.214	
One position Dance Spin (no change of foot)				0.867	2.2	1.907	
Total Technical Elements				Total judges score for elements		4.528	
				Factor	WPI	WPI incl age	
Impairment Compensation (20 x WPI)				20	60.00%	60.00%	
Technical Skating Skills (Factor x Score)				1.5		2.9	
Artistic Performance & Execution (Factor x Score)				1.5		3.2	
Deductions						0.00	
Total Score for Performance						25.68	
Programme duration (min): 2				Time Adjusted Championship World Ranking Score		12.84	

Solo Free Dance						Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Natasha	Last name:	Arbuckle	Sex:	Lady			
Age Jan 1st:	21	Age category:	Senior	Country:	England, UK			
Classification:	Unified Classified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements							Official Use Only	
Level 3								
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	1.3	1.343		
Pose (3 to 6 seconds)				0.667	3.2	2.134		
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	1	0.867		
One position Dance Spin (no change of foot)				0.867	2.3	1.994		
Total Technical Elements				Total judges score for elements		4.344		
				Factor	WPI	WPI incl age		
Impairment Compensation (20 x WPI)				20	5.00%	5.00%	1.000	
Technical Skating Skills (Factor x Score)				1.5		2.2	3.300	
Artistic Performance & Execution (Factor x Score)				1.5		2.55	3.825	
Deductions							0.00	
				Total Score for Performance		12.47		
Programme duration (min): 2				Time Adjusted Championship World Ranking Score		6.23		

Solo Free Dance						Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Thea	Last name:	Harding	Sex:	Lady			
Age Jan 1st:	11	Age category:	Novice	Country:	England, UK			
Classification:	Unified Unclassified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements						Official Use Only		
Level 3								
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	1.6	1.653		
Pose (3 to 6 seconds)				0.667	3.75	2.501		
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	2	1.734		
One position Dance Spin (no change of foot)				0.867	5.5	4.769		
Total Technical Elements				Total judges score for elements		5.888		
				Factor	WPI	WPI incl age		
Impairment Compensation (20 x WPI)				20	0.00%	0.00%	0.000	
Technical Skating Skills (Factor x Score)				1.5		2.7	4.050	
Artistic Performance & Execution (Factor x Score)				1.5		2.9	4.350	
Deductions							0.00	
Total Score for Performance						14.29		
Programme duration (min): 2				Time Adjusted Championship World Ranking Score		7.14		

Solo Free Dance						Level: 4	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Emily	Last name:	Poulton-Smyth	Sex:	Lady			
Age Jan 1st:	20	Age category:	Senior	Country:	England, UK			
Classification:	Unified Classified	Support:		Club:				
				Technical	Grade of Execution	Mark awarded		
Elements					Official Use Only			
Level 4								
Twizzles, 1 rotation on 1 foot + more on 2 feet, any edge, c + cc, max 3 linking steps				1.533	4.3	6.592		
Pose (3 to 6 seconds)				1	5.2	5.200		
Step seq. (straight line, full ice surface, double 3 turns, twizzles + more adv. turns)				1.367	3.35	4.579		
One position Dance Spin (no change of foot)				1.2	5.15	6.180		
Total Technical Elements				Total judges score for elements		16.371		
				Factor	WPI	WPI incl age		
Impairment Compensation (30 x WPI)				30	5.00%	5.00%	1.500	
Technical Skating Skills (Factor x Score)				2.5		3.75	9.375	
Artistic Performance & Execution (Factor x Score)				2.5		4.2	10.500	
Deductions								
Total Score for Performance								
Programme duration (min): 2				Time Adjusted Championship World Ranking Score		37.75		
						18.87		

Solo Free Dance						Level: 6	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025							
First name:	Caitlyn	Last name:	Baxby	Sex:	Lady			
Age Jan 1st:	16	Age category:	Junior	Country:	England,UK			
Classification:	Unified Classified	Support:		Club:				
Elements				Technical	Grade of Execution <small>Official Use Only</small>	Mark awarded		
Level 6								
Twizzles, 3 or more rotations on any edge, c + cc on any edges, max 3 linking steps, additional features permitted				2.2	6.5	14.300		
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)				1.333	3	3.999		
Choreographic dance element				1.7	3.75	6.375		
Step seq (straight line or curved, full ice surface, counters, rockers, twizzles etc)				2.367	5.7	13.492		
One Dance Spin (all permitted)				1.867	6.5	12.136		
Total Technical Elements	Total judges score for elements					24.674		
				Factor	WPI	WPI incl age		
Impairment Compensation (50 x WPI)				50	5.00%	5.00%	2.500	
Technical Skating Skills (Factor x Score)				2.5		4.5	11.250	
Artistic Performance & Execution (Factor x Score)				2.5		4.5	11.250	
Deductions							0.00	
Total Score for Performance						49.67		
Programme duration (min): 2.5				Time Adjusted Championship World Ranking Score	19.87			